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	Reason for change:
	1) Currently there is a 50ms timer "to allow any pending SI to be consumed in MAC_E_Default ". This timer is too short to handle properly all the pending SI indicators.
It is better to check for the last SI to be received, instead of using a timer. The last SI can be detected by its TEBS, HLBS and HLID values, which are set to zero.
According to TS 25.321 clauses 9.4.2.4 and 11.8.1.6, scheduling information with empty buffer statu report clould be added to PDU if condition is sucessfull. 
2) Variable "tcv_ActTime" is declared as integer, but it is defined only in range 0÷255 by TS 25.331 clause 11.3. In some cases it can be filled with an invalid value. A mechanism needs to implemented, to ensure that value filled in is allways valid. 
3)  According to TS 25.321 clause 11.8.1.8, the UE will monitor absolute and relative grant channel if
At least one MAC-d flow is configured with a scheduled transmission and TEBS > 0

In the current TTCN implementation, absolute grant is issued in step 1 and data is sent to the UE in step 2. According to this sequence, TEBS will not be > 0 and so the UE may not monitor the absolute and relative grant channels. Therefore, the order of these steps should be reversed. A similar change is required at steps 18 and 19.

	
	

	Summary of change:
	1) Remove the t_Dly timer and wait until the last SI indicator is received
Use the template ca_CMAC_MAC_es_SI_IND('00000'B,'0000'B,'0000'B) to detect the last SI

2) Divide by modulo 256, when the value for tcv_ActTime is counted, to ensure that it is not too high. Also check if the value is not too low before decrementing.

3) Use reversed implementation - step 2 before step 1, and step 19 before step 18.
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	Other comments:
	


1.1 Change 1
	Object name 
	tc_7_1_6_2_11: lt_LocalTest

	Reason for change
	Currently there is a 50ms timer "to allow any pending SI to be consumed in MAC_E_Default ". 
It is better to check if the last SI was received, instead of using a timer. The last SI can be detected by its TEBS, HLBS and HLID values, which are set zero.
According to spec. 25.321 chap 9.4.2.4 and 11.8.1.6 scheduling information with empty buffer statu report clould be added to PDU if condition is sucessfull. 

	Summary of change
	Remove the t_Dly timer and wait until the last SI indicator is received
Use the template ca_CMAC_MAC_es_SI_IND('00000'B,'0000'B,'0000'B) to detect the last SI

	Source of change
	Modification
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1.2 Change 2
	Object name 
	tc_7_1_6_2_11: lt_Step7_8And20_21And27_28

	Reason for change
	Variable "tcv_ActTime" is declared as integer,but it is defined only in range 0 ÷ 255 by ASN. In some cases it can be filled with invalid value higher than 255.

	Summary of change
	Move division by modulo 256, right to step when the tcv_ActTime is filled. 

	Source of change
	Modification


Before
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1.3 Change 3

	Object name 
	tc_7_1_6_2_11: lt_Step3_5And10_12And23_25

	Reason for change
	Variable "tcv_ActTime" is declared as integer,but it is defined only in range 0 ÷ 255 by ASN. In some cases it can be filled with invalid value higher than 255.

	Summary of change
	Move division by modulo 256, right to step when the tcv_ActTime is filled. 

	Source of change
	Modification


Before
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1.4 Change 4

	Object name 
	tc_7_1_6_2_11: lt_CheckHS_SCCHTx

	Reason for change
	Variable "tcv_ActTime" is declared as integer,but it is defined only in range 0 ÷ 255 by ASN. In some cases it can be filled with invalid value lower than 0.

	Summary of change
	In case that tcv_ActTime equals to 0 set it to 255 instead of decrementing it.

	Source of change
	Modification


Before
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1.5 Change 5

	Object name 
	tc_7_1_6_2_11: lt_LocalTest

	Reason for change
	According to spec 25.321 chap 11.8.1.8: UE will monitoring absolute or relative grant channel:

At least one MAC-d flow is configured with a scheduled transmission and TEBS > 0

In current TTCN implementation, TTCN sets absolute grant in step 1 and 18 and sends data to UE in step 2 and 19. According to mentioned configuration UE may not monitor absolute and relative grant channel.

	Summary of change
	Use reversed implementation - step 2/19 before step 1/18.

	Source of change
	Modification
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